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1. Which among the following is a belief 

of the Theosophical society ? 

1. The society considered Christianity 

as the most spiritual religion in the 

world. 

2. They preached universal brothe-

rhood without any discrimination 

on the basis of caste, creed or race. 

3. They studied Aryan philosophy and 

teachings 

4. They propagated reforms in society 

as well as in the education sector. 

(A) 1 and 2  (B)  3 and 4 

(C) 1, 2 and 3 (D) 2, 3 and 4 

2. With reference to the Charter Act of 

1813, consider the following stateme-

nts – 

1. The company was to take up a 

major role in the education of the 

Indians under them, and it was to 

set asids Rs. 10 Lakh for this 

purpose. 

2. The Act provided for a financial 

grant regarding the revival of 

Indian Iiterature and the promotion 

of science. 

3. The Act gave more powers and 

authority for the courts in India 

over European British subjects. 

 Which among the following 

statements given above is/are 

correct ? 

(A) 1 and 2  (B)  2 only 

(C) 1, 2 and 3 (D) 2 and  3 

3. Consider the following statements : 

1 Warren Hastings set up the Calcu-

tta Madrassa for the study and 

teaching of Muslim law-related 

subjects. 

2. Jonathan Duncan started a 

Sanskrit College at Varanasi for 

the study of Hindu law and 

philosophy. 

 Which of the statements given 

above is /are correct ?  

(A) 1 only  (B) 2 only 

(C) Both 1 and 2 (D) Neither 1 nor 2 

1- fuEufyf[kr esa ls D;k fFk;kslksfQdy lekt dk ,d 

fo'okl gS\  

1- lekt us bZlkbZ /keZ dks nqfu;k esa lcls 

vk/;kfRed /keZ ekukA 

2- mUgksaus tkfr] iaFk ;k uLy ds vk/kkj ij fcuk 

fdlh HksnHkko ds lkoZHkkSfed HkkbZpkjs dk izpkj 

fd;kA 

3- mUgksaus vk;Zu n'kZu vkSj f'k{kkvksa dk v/;;u 

fd;k 

4- mUgksaus lekt ds lkFk&lkFk f'k{kk {ks= esa Hkh 

lq/kkjksa dk izpkj fd;kA 

(A) 1 vkSj 2  (B)  3 vkSj 4 

(C) 1, 2 vkSj 3 (D) 2, 3 vkSj 4 

2- 1813 ds pkVZj vf/kfu;e ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft,% 

1-  daiuh dks muds v/khu Hkkjrh;ksa dh f'k{kk esa 

,d izeq[k Hkwfedk fuHkkuh Fkh] vkSj blds 

fy, 10 yk[k #i;s vyx ls fu/kkZfjr djus 

FksA 

2- vf/kfu;e us Hkkjrh; lkfgR; ds iqu#RFkku 

vkSj foKku dks c<+kok nsus ds laca/k esa foÙkh; 

vuqnku iznku fd;kA 

3- bl vf/kfu;e us ;wjksih; fczfV'k fo"k;ksa ij 

Hkkjr esa U;k;ky;ksa ds fy, vf/kd 'kfDr vkSj 

vf/kdkj fn,A 

 (A) 1 vkSj 2  (B) dsoy 2 

 (C) 1]2 vkSj 3             (D) 2 vkSj 3 

3- fuEufyf[kr dFkuksa ij fopkj dhft,% 

1- eqfLye fof/k ls lacaf/kr fo"k;ksa ds v/;;u 

vkSj v/;kiu ds fy, okjsu gsfLVaXl us 

dkWydkrk enjlk LFkkfir fd;kA 

2- fgUnw fof/k rFkk n'kZu ds v/;;u ds fy, 

tksukFku Madu us okjk.klh esa laLd`r dkWyst 

'kq: fd;kA 

 (A) dsoy 1  (B) dsoy 2 

 (C) nksuksa 1 vkSj 2    (D) u rks 1 vkSj u gh 2 
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4. Which of the following Vedas deals 

with magic spells and witchcraft ? 

(A) Rigveda  (B) Samaveda 

(C) Yajurveda (D) Atharvaveda 

5. The real founder of the Sultanate of 

Delhi and its first dynasty was. 

(A) Muhammad Ghuri    

(B) Qutub-ud-din-Aibak 

(C) Iltututmish (D) Balban 

6. Which Indian city is known as The 

City of Thousand Temples ? 

(A) Varanasi (B) Kalpi 

(C) Kanchipuram (D) Mysore 

7. Who established a factory at Sutanuti 

in 1690 ? 

(A) Job Charnock (B) Sir John Child 

(C) Sir William Courten    

(D) Eyre Coote 

8. Who was mainly responsible for the 

introduction of the Ryyatwari system 

in Madras ? 

(A) Elphinstone (B) Thomas Munro 

(C) Me Cartney (D) John Lawrence 

9. Consider the following statements. 

1. Bastar rebellion took place in 

Maharashtra. 

2. Warli Revolt took place in Chhatis-

garh. 

Choose the correct option from the 

codes given below: 

(A) Only i  (B) Only ii 

(C) Both i and ii  

(D) None of the above 

10. Which one of the following traders 

first came to India during the Mughal 

period ? 

(A) Portuguese (B) Dutch 

(C) Danish  (D) British 

11. Which of the following is not a factor 

influencing the south west Monsoon in 

India ? 

(A) Shifting of the ITCZ    

(B) Western Disturbances 

(C) Westerly Jet stream    

(D) The Tibetan plateau 

4- fuEufyf[kr esa ls dkSu lk osn tknw ea= vkSj tknw 

Vksuk ls lacaf/kr gS\ 

 (A) _Xosn  (B) lkeosn 

 (C) ;tqosZn             (D) vFkoZosn 

5- fnYyh lYrur vkSj mlds izFke oa'k dk okLrfod 

laLFkkid FkkA 

 (A) eqgEen xkSjh  

 (B) dqrqc&mn&nhu&,scd 

 (C) bYrqqrfe'k             (D) cycu 
6- Hkkjr ds fdl 'kgj dks gtkj eafnjksa dk 'kgj dgk 

tkrk gS\ 

 (A) okjk.klh  (B) dkYih 
 (C) dkaphiqje             (D) eSlwj 

7- ftUgksaus 1690 esa lqruqfr esa ,d dkj[kkuk LFkkfir 

fd;kA 

 (A) tkWc pkjukWd   

 (B) lj tkWu pkbYM 

 (C) lj fofy;e dkWVsZu       

 (D) vk;j dwV 

8- enzkl esa jS¸;rokjh iz.kkyh dh 'kq#vkr ds fy, 

eq[; :i ls dkSu ftEesnkj Fkk \ 

 (A) ,fYQaLVu  (B) FkkWel equjks 
 (C) eh dkVZuh             (D) tkWu ykWjsal  

9- fuEufyf[kr dFkuksa ij fopkj djsaA 

1- egkjk"Vª esa cLrj fonzksg gqvkA 

2- okjyh fonzksg NÙkhlx<+ esa gqvkA 

 (A) dsoy i   

 (B) dsoy ii 

 (C) i vkSj ii nksuksa           

 (D) mijksDr esa ls dksbZ ugha 
10- fuEufyf[kr esa ls dkSu lk O;kikjh igyh ckj eqxy 

dky ds nkSjku Hkkjr vk;k Fkk\ 

 (A) iqrZxkyh  (B) Mp 

 (C) Msfu'k             (D) fczfV'k 
11- fuEufyf[kr esa ls dkSu lk Hkkjr esa nf{k.k if'pe 

ekulwu dks izHkkfor djus okyk dkjd ugha gS\ 

 (A) ITCZ dk LFkkukarj.k   

 (B) if'peh fo{kksHk 
 (C) osLVjyh tsV LVªhe               

 (D) frCcrh iBkj  
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12. Through which among the following 

given groups of Asian countries does 

Tropic of Cancer passes ? 

(A) India, Saudi Arabia and Sri Lanka  

(B) India, Bangladesh and Indonesia 

(C) Saudi Arabia, United Arab Emirat-

es and Oman    

(D) Venezuela, Ethiopia and Indonesia 

13. Arrange the following fresh water 

sources in descending order based on 

the quantity of fresh water they hold ? 

(1) Glaciers  (2) Ground water 

(3) Atmosphere (4) Permafrost 

Choose the correct answer from the 

given code: 

(A) 1– 2 – 3 – 4  (B) 2 – 1 – 3 – 4 

(C) 2 – 4 – 1 – 3 (D) 1 – 2 – 4 – 3 

14. Forests and Oceans act as sinks for 

which green-house gas ? 

(A) Methane  (B) Carbon dioxide 

(C) Chlorofluorocarbons  

(D) Nitrous oxide 

15. Match the following in Column I 

(World's Grasslands names) with 

Column II (Location of Grasslands): 

      Cloumn I  Column II 

1) Veld a. New Zealand. 

2) Cerrado b. North America 

3) Canterbury 

Plains 

c. Africa. 

4) Prairies d. Brazil. 
 

(A) 1 - c, 2 - d, 3 - a, 4 - b   

(B) 1 - d, 2 - c, 3 - b, 4 - a 

(C) 1 - c, 2 - a, 3 – b, 4 - c   

(D) 1 – c, 2 - d, 3 - a, 4 - b 

16. Which gmong the given Province of 

Pakistan share its boundary with 

Ladakh - 

(A) Balochistan    

(B) Azad Jammu and Kashmir 

(C) Gilgit-Baltistan    

(D) Punjab 

 

12- ,f'k;kbZ ns'kksa ds fuEu esa ls fdl lewg ds ek/;e 

ls ddZ js[kk xqtjrh gS\ 

 (A) Hkkjr] lÅnh vjc vkSj Jhyadk  

 (B) Hkkjr] ckaXykns'k vkSj baMksusf'k;k 

 (C) lÅnh vjc] la;qDr vjc vehjkr vkSj 

vkseku               

 (D) osustq,yk] bfFk;ksfi;ka vkSj baMksusf'k;k 

13- fuEufyf[kr rkts ty ds lzksrksa dks rkts ikuh dh 

ek=k ds vk/kkj ij vojksgh Øe esa O;ofLFkr djsa\ 

1½ Xysf'k;j   

2½ Hkwty 

3½ ok;qeaMy 

4½ HkwfoKku esa LFkk;hrq"kkj ;k iekZÝksLV 

fn, x, ladsrkoyh esa ls lgh mÙkj pqusa& 

(A) 1– 2 – 3 – 4  (B) 2 – 1 – 3 – 4 

(C) 2 – 4 – 1 – 3 (D) 1 – 2 – 4 – 3 

14- ou vkSj egklkxj fdl xzhu&gkml xSl ds fy, 

flad dk dk;Z djrs gSa\ 

 (A) ehFksu    

 (B) dkcZZu MkbvkWDlkbM 

 (C) Dyksjks¶yksjksdkcZu       

 (D) ukbVªl vkWDlkbM 

15- fuEufyf[kr dkWye I ¼fo'o ds xzklySaM ds uke½ dk 

dkWye II ¼xzklySaM dk LFkku½ ds lkFk feyku djsaA 

      dkWye I         dkWye II 

1) osYM a. U;wthySaM 

2) lsjkMks b. mÙkjh vesfjdk 

3) dSaVjcjh eSnku c. vÝhdk 

4) izs;jht d. czkthy 

(A) 1 - c, 2 - d, 3 - a, 4 - b   

(B) 1 - d, 2 - c, 3 - b, 4 - a 

(C) 1 - c, 2 - a, 3 – b, 4 - c   

(D) 1 – c, 2 - d, 3 - a, 4 - b 

16- ikfdLrku ds fn, x, izkar esa ls dkSu yík[k ds 

lkFk viuh lhek lk>k djrk gS\ 

 (A) CywfpLrku    

 (B) vktkn tEew vkSj d'ehj 

 (C) fxyfxr & ckfYVLrku               

 (D) iatkc 
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17. Paradip Port is located on the delta of 

which among the following ? 

(A) Rihand  (B) Mahanadi 

(C) Baitarni          (D) None of the above 

18. Which among the following is the largest 

river system among the Deccan system of 

rivers ? 

(A) Godavari  (B) Cauvery 

(C) Krishna  (D) Periyar 

19. Consider the following statements about 

'Preventive Detention' under Indian 

Constitution – 

1. A person deemed likely to commit a 

crime can be booked under preventi-

ve detention laws. 

2. Preventive detention can be extended 

only for six months. 

Which of the given above statement 

(s)/are correct ? 

(A) 1 only  (B) 2 only 

(C) Both 1 and 2 (D) Neither 1 nor 2 

20. The Constitution limits the power of the 

Government by means of: 

1. Right to Freedom of Speech and 

Expression. 

2.  Right to Constitutional Remedies. 

 Which of the above statements is/are 

correct ? 

(A) 1 only  (B) 2 only 

(C) Both 1 and 2 (D) Neither 1 nor 2 

21. Which of the following committees is not 

related to Electoral Reforms ? 

(A) Wanchoo committee    

(B) Dinesh Goswami committee 

(C) Vohra committee    

(D) D.K. Santhanam committee 

22. With reference to powers of the president 

of India, consider the following stateme-

nts. 

1. He has the power to summon both 

the following statements: 

2. He has veto power by which he can 

withhold assent to Bills passed by 

the parliament.  

(A) 1 only  (B) 2 only 

(C) Both 1 and 2 (D) Neither 1 nor 2 

 

17- ikjknhi canjxkg fuEufyf[kr esa ls fdlds MsYVk ij 

fLFkr gS\ 

 (A) fjgan   (B) egkunh 
 (C) oSSrj.kh               

 (D) mijksDr esa ls dksbZ ugha 
18- fuEufyf[kr esa ls dkSu ufn;ksa dh nDdu iz.kkyh esa 

lcls cM+h unh iz.kkyh gS\ 

 (A) xksnkojh  (B) dkosjh 
 (C) d`".kk             (D) isfj;kj 
19- Hkkjrh; lafo/kku ds rgr ^fuokjd fujks/k* ds ckjs 

esa fuEufyf[kr dFkuksa ij fopkj djsaA 

1- vijk/k djus dh laHkkouk okys O;fDr ij 

fuokjd fujks/k dkuwuksa ds rgr ekeyk ntZ 

fd;k tk ldrk gSA 

2- fuokjd fujks/k dks dsoy Ng eghus ds fy, 

c<+k;k tk ldrk gSA 

 (A) dsoy 1  (B) dsoy 2 

 (C) 1 vkSj 2 nksuksa          

 (D) u rks 1 vkSj u gh 2 

20- lafo/kku ljdkj dh 'kfDr dks lhfer djrk gSA 

1- Hkk"k.k vkSj vfHkO;fDr dh Lora=rk dk 

vf/kdkjA 

2- laoS/kkfud mipkj dk vf/kdkjA 

 (A) dsoy 1  (B) dsoy 2 

 (C) 1 vkSj 2 nksuksa          

 (D) u rks 1 vkSj u gh 2 

21- fuEufyf[kr esa ls dkSu lh lfefr pqukoh lq/kkjksa ls 

lacaf/kr ugha gS\ 

 (A) okapw lfefr   

 (B) fnus'k xksLokeh lfefr 

 (C) oksgjk lfefr               

 (D) Mh-ds- laFkkue lfefr 

22- Hkkjr ds jk"Vªifr dh 'kfDr;ksa ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft,A 

1- mls laln ds nksuksa lnuksa dks vkgwr djus dh 

'kfDr izkIr gSA 

2- mlds ikl ohVks ikoj gS ftlds }kjk og 

laln }kjk ikfjr fo/ks;dksa ij lgefr jksd 

ldrk gSA 

(A) dsoy 1  (B) dsoy 2 

(C) 1 vkSj 2 nksuksa          
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(D) u rks 1 vkSj u gh 2 

23. Which of the following is not true about 

Article 32 of the Indian Constitution ? 

(A) It gives the Supreme Court and the 

High Courts the power to issue writs 

for the enforcement of fundamental 

rights.    

(B) It is included in Part III of the Indian 

Constitution and is therefo-re itself a 

fundamental right. 

(C) Dr. Ambedkar called it the 'very soul 

of the Indian Constitution'.  

(D) An aggrieved person has no right to 

complain under Article 32 where a 

fundamental right has not been 

violated. 

24. Consider the following statements 

regarding the Capital Market and Money 

Market. 

1.  The purpose of the Money Market is 

to achieve the long term credit 

requirements of the trade. 

2. Commercial Papers, Treasury cer-

tificate of deposit, Trade Credot etc. 

are some fomamcoa; tools of Capital 

Market. 

Which among the following above 

statements is/ are correct ? 

(A) 1 only  (B) 2 only 

(C) Both are correct 

(D) Both are incorrect 

25. The law of demand refers to 

(A) the inverse relationship between the 

consumer's income and the amount 

of a commodity that the consumer 

demands.   

(B)  the direct relationship between the 

population and the market dem-and 

for a commodity. 

(C) the inverse relationship between the 

price of a commodity and the 

quantity demanded of the commo-

dity per time period.    

(D)  the direct relationship between the 

desire of a consumer has for a 

commodity and the amount of the 

commodity that the consumer 

demands.  

23- fuEufyf[kr esa ls dkSu Hkkjrh; lafo/kku ds 

vuqPNsn 32 ds ckjs esa lgh ugha gS\ 

(A)  ;g loksZPp U;k;ky; vkSj mPp U;k;ky;ksa dks 

ekSfyd vf/kdkjksa ds izorZu ds fy, fjV tkjh 

djus dh 'kfDr nsrk gSA    

(B)  ;g Hkkjrh; lafo/kku ds Hkkx III esa 'kkfey gS 

vkSj blfy, ;g vius vki esa ,d ekSfyd 

vf/kdkj gSA 

(C)  MkW- vEcsMdj us bls ^Hkkjrh; lafo/kku dh 

vkRek* dgkA               

(D)  ,d ihfM+r O;fDr dks vuqPNsn 32 ds rgr 

f'kdk;r djus dk dksbZ vf/kdkj ugha gS tgka 

ekSfyd vf/kdkj dk mYya/ku ugha fd;k x;k 

gSA 

24- iawth cktkj vkSj eqnzk cktkj ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj djsaA 

1- eqnzk cktkj dk mís'; O;kikj dh nh?kZdkfyd 

_.k vko';drkvksa dks izkIr djuk gSA 

2- okf.kfT;d i=] Vªstjh lfVZfQdsV vkWQ 

fMikWftV] O;kikj _.k  

vkfn eqnzk cktkj ds dqN foÙkh; lk/ku gSaA 

 (A) dsoy 1   

 (B) dsoy 2 

 (C) nksuksa lgh gSa              
 (D) nksuksa xyr gSa 
25- ekax dk fu;e lanfHkZr djrk gSs 

(A) miHkksDrk dh vk; vkSj miHkksDrk dh ekax ds 

chp oLrq dk O;qRØe laca/kA    

(B) ,d oLrq dh ekax ds fy, tula[;k vkSj 

cktkj ds chp lh/kk laca/kA 

(C) ,d oLrq dh dher vkSj izfr le;kof/k esa 

mi;ksxh oLrq dh ekax dh ek=k ds chp 

foijhr lEcU/kA               

(D) miHkksDrk dh bPNk ds chp lh/kk laca/k ,d 

oLrq vkSj miHkksDrk dh ekax ds vuqlkj oLrq 

dh ek=k ds fy, gksrk gSA 
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26. Among the following, the most 

viscous liquid is. 

(A) Ethanol  (B) Glycerol 

(C) Acetic acid (D) Ethylene glycol 

27. Elemental....................is said to be the 

strongest oxidizing agent. 

(A) Bromine  (B) Chlorine 

(C) Fluorine  (D) lodine 

28. Which property of an element 

determines its chemical behavior ? 

(A) Valency  (B) Size 

(C) Molar mass (D) All of these 

29. Which of the given is an example of a 

compound ? 

(A) Rust formed on an iron rod   

(B) Sugar and water solution 

(C) Sand and water combination  

(D) The air in a balloon 

30. If 6gm urea is dissolved in 500gm of 

water, then what will be the mass 

percentage of urea in the solution ? 

(A) 2.098%  (B) 1.186% 

(C) 1.567%  (D) 2.088% 

31. In which type of chemical reaction, the 

valency of the element increases ? 

(A) Reduction reaction    

(B) Oxidation reaction 

(C) Decomposition reaction   

(D) Irreversible reaction 

32. What makes carbon tetrachloride 

insoluble in water ? 

(A) Carbon tetrachloride is non-polar 

and water is polar.    

(B) Carbon tetrachloride is polar and 

water is non-polar. 

(C) Carbon tetrachloride and water are 

both polar.    

(D) None of the above 

33. What is the reducing agent in the 

below reaction ? 

                     

(A) Na   (B)       

(C)         (D)    
 
 

26- fuEufyf[kr esa ls dkSu lcls vf/kd ';ku rjy 

gSA 

 (A) bFksukWy  (B) fXyljkWy 

 (C) ,flfVd vEy            (D) ,fFkyhu XykbdkWy 
27- rkfRod ------------dks lcls etcwr vkWDlhdj.k 

,tsaV dgk tkrk gSA 

 (A) czksehu  (B) Dyksjhu 

 (C) ¶yksjhu             (D) vk;ksMhu 

28- rRo dk dkSulk xq.k mlds jklk;fud O;ogkj dks 

fu/kkZfjr djrk gS\ 

 (A) la;kstdrk  (B) vkdkj 

 (C) v.kq nzO;eku             (D) mijksDr lHkh 
29- fuEu esa ls dkSu lk ;kSfxd dk ,d mnkgj.k gS\ 

 (A) ,d yksgs dh NM+ ij yxk tax  

 (B) phuh vkSj ikuh dk ?kksy 

 (C) jsr vkSj ikuh dk la;kstu               

 (D) ,d xqCckjs esa gok 
30- ;fn 6 xzke ;wfj;k dks 500 xzke ikuh esa ?kksy fn;k 

tkrk gS] rks ?kksy esa ;wfj;k dk nzO;eku izfr'kr 

fdruk gksxk\  

(A) 2.098%  (B) 1.186% 

(C) 1.567%  (D) 2.088% 

31- fdl izdkj dh jklk;fud izfrfØ;k esa] rRo dh 

la;kstdrk esa o`n~f/k gksrh gS\ 

 (A) U;wuhdj.k izfrfØ;k  

 (B) vkWDlhdj.k izfrfØ;k 

 (C) vi?kVu izfrfØ;k               

 (D) vifjorZuh; izfrfØ;k 

32- dkcZu VsVªkDyksjkbM dks ikuh esa D;k v?kqyu'khy 

cukrk gS\ 

 (A) dkcZu VsVªkDyksjkbM xSj&/kqzoh; gS vkSj ikuh 

/kqzoh; gSA    

 (B) dkcZu VsVªkDyksjkbM /kqzoh; gS vkSj ikuh xSj & 

/kqzoh; gSA 

 (C) dkcZu VsVªkDyksjkbM vkSj ikuh nksuksa /kqzoh; gSA 

  (D) buesa ls dksbZ Hkh ughaA 
33- uhps nh xbZ izfrfØ;k esa vipk;d dkjd D;k gS\ 

                     

(A) Na  (B)       

(C)         (D)    
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34. Which of the following gases is used in 

the storage of fat and oil containing 

foods for a long time ? 

(A) Carbon dioxide gas(B) Nitrogen gas 

(C) Oxygen gas (D) Neon gas 

35. Which one of the following gases is 

placed second in respect of abundance 

in the Earth's atmosphere ? 

(A) Oxygen  (B) Hydrogen 

(C) Nitrogen  (D) Carbon dioxide 

36. Which one of the following  is a cause 

of acid rains ? 

(A) Ozone  (B) Ammonia 

(C) Sulphur dioxide 

(D) Carbon monoxide 

37. What is the another name of quick lime? 

(A) Calcium hydroxide    

(B) Calcium oxide 

(C) Carbon dioxide(D) Sodium oxide 

38. Heating of ferrous sulphate gives which 

of the following product? 

(A) Ferric oxide (B) Sulphur dioxide 

(C) Sulphur trioxide(D) All of the above 

39. Which of the following statement is 

wrong about electron ? 

(A) It is a particle    

(B) It emits energy while moving in 

orbit. 

(C) Its motion is affected by magnetic 

field.    

(D) It has wave like property 

40. One of the following processes does not 

involve a chemical reaction. That is: 

(A)Melting of candle wax when heated 

(B)Burning of candle wax when heated 

(C) Digestion of food in our stomach  

(D) Ripening of banana 

 

 

 

 

 

 

 

34- olk vkSj rsy ;qDr [kk| inkFkksZa ds HkaMkj.k eas 

fuEufyf[kr esa ls fdl xSl dk mi;ksx yacs le; 

rd fd;k tkrk gS\ 

 (A) dkcZu MkbvkWDlkbM xSl(B) ukbVªkstu xSl 

 (C) vkWDlhtu xSl            (D) fu;ku xSl 

35- fuEufyf[kr esa ls fdl xSl dks i`Foh ds ok;qeaMy 

esa cgqrk;r ds laca/k esa nwljs LFkku ij j[kk x;k 

gS\ 

 (A) vkWDlhtu  (B) gkbMªkstu 

 (C) ukbVªkstu             (D) dkcZu MkbvkWDlkbM 

36- fuEufyf[kr esa ls dkSu lk vEy o"kkZ dk dkj.k gS\ 

 (A) vkstksu  (B) veksfu;k 

 (C) lYQj MkbvkWDlkbM  (D) dkcZu eksuksvkWDlkbM 

37- fcuk cq>k;k gqvk pwuk dk nwljk uke D;k gS\ 

 (A) dSfY'k;e gkbMªkWDlkbM(B) dSfY'k;e vkWDlkbM 

 (C) dkcZu MkbvkWDlkbM   (D) lksfM;e vkWDlkbM 

38- Qsjl lYQsV dks xeZ djus ij fuEufyf[kr esa ls 

dkSu ls mRikn curs gSa\ 

 (A) Qsfjd vkWDlkbM (B) lYQj MkbvkWDlkbM 

 (C) lYQj VªkbZvkWDlkbM  (D) mijksDr lHkh 
39- fuEufyf[kr esa ls dkSu lk dFku bysDVªkWu ds ckj 

esa xyr gS\  

 (A) ;g ,d d.k gS    

 (B) ;g ifjØek djrs gq, ÅtkZ dk mRltZu djrk 

gSA 

 (C) bldh xfr paqcdh; {ks= ls izHkkfor gksrh gSA  

(D) blesa xq.k rjax dh rjg gksrs gS 
40- fuEufyf[kr izfØ;kvksa esa ls ,d esa jklk;fud 

vfHkfØ;k 'kkfey ugha gSA vFkkZr% 

 (A) xeZ gksus ij eksecÙkh ds ekse dk fi?kyuk 

 (B) xeZ gksus ij eksecÙkh ds ekse dk tyukA 
 (C) gekjs isV esa Hkkstu dk ikpuA              

 (D) dsyk dk iduk 
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41. Which one of the following statements 

is correct ? 

(A) Any energy transfer that does not 

involve temperature difference in 

some way is not heat    

(B) Any energy transfer always requires 

a temperature difference  

(C) On heating the length and volume of 

the object remain exactly the same  

(D) Whenever there is a temperature 

difference, heat is the only way of 

energy transfer. 

42. If T is the time period of an oscillating 

pendulum, which one of the following 

statements is NOT correct ? 

(A) The motion repeats after time T only 

once    

(B) T is the least time after which 

motion repeats itself 

(C) The motion repeats itself after nT, 

where n is a positive integer   

(D) T remains the same only for small 

angular displacements  

43. If an object moves with constant 

velocity then which one of the follow-

ing statements is NOT correct ? 

(A) Its motion is along a straight line  

(B) Its speed changes with time 

(C) Its acceleration is zero  

(D) Its displacement increases linearly 

with time 

44. An object is moving with uniform 

acceleration a. Its initial velocity is u 

and after time t its velocity is v. The 

equation of its motion is v = u + at. The 

velocity (along y-axis) time (along x-

axis) graph shall be a straight line 

(A) passing through origin   

(B) with x-intercept u 

(C) with y-intercept u(D) with slope u 

45. What is the net force experienced by a 

bar magnet placed in a uniform magn-

etic field ? 

(A) Zero 

(B) Depends upon length of the magnet 

(C) Never zero    

(D) Depends upon temperature 

41- fuEufyf[kr esa ls dkSu lk dFku lgh gS\ 

 (A) dksbZ ÅtkZ varj.k] ftlesa fdlh izdkj dk 

rkikarj 'kkfey ugha gS] Å"ek ugha gS  

 (B) fdlh ÅtkZ varj.k esa rkikrj ges'kk t:jh gSA 

 (C) rkiu djus ij oLrq dh yackbZ vkSj vk;ru 

rF;r% ogh cus jgrs gSa               

 (D) tc rkikUrj gksrk gS] ÅtkZ varj.k dk ,d 

ek= ekxZ Å"ek gh gksrk gSA 

42- ;fn fdlh nksyk;eku yksyd dk vkorZ dky T  gS] 

rks fuEufyf[kr dFkuksa esa ls dkSu lk ,d lgh ugha 

gS\ 

 (A) le; T ds ckn xfr flQZ ,d ckj fQj ?kfVr 

gksrh gS    

 (B) T og U;wure le; gS ftlds ckn xfr fQj 

?kfVr gksrh gSA 

 (C) nT ds ckn xfr fQj ?kfVr gksrh gS] tgka n 

,d /kukRed iw.kkZd gS               

 (D) dsoy NksVs dks.kh; foLFkkiuksa ds fy, gh T, 

ogh ¼leku½ cuk jgrk gS 

43- ;fn ,d fiaM ,dleku osx ls xfreku gS] rks 

fuEufyf[kr dFkuksa esa ls dkSu lk ,d lgh ugha gS\ 

 (A) mldh xfr ,d ljy js[kk ij gS  

 (B) mldh pky le; ds ds lkFk cnyrh gS 
 (C) mldk Roj.k 'kwU; gS               

 (D) mldk foLFkkiu le; ds lkFk jsf[kdr% c<+rk 

gS 

44- dksbZ fi.M ,dleku Roj.k a ls xfreku gSA mldk 

vkjafHkd osx u gS vkSj le; t ds ckn mldk osx v 

gSA mldk xfr lehdj.k v = u + at gSA  mldk osx 

¼ y –v{k dh fn'kk esa½ le; ¼ x- v{k dh fn;kk esa½ 

xzkQ ljy js[kk gksxhA 

 (A) tks ewyfcUnq ls gksdj fudyrh gS   

 (B) ftldk x-var%[k.M u gS 

 (C) ftldk y-var%[k.M u gS(D) ftldh izao.krk u gS 

45- ,dleku pqEcdh; {ks= esa j[ks gq,] ,d n.M 

pqEcd ij yxus okyk usV cy D;k gS\ 

 (A) 'kwU;    

 (B) ;g pqEcd dh yEckbZ ij fuHkZj djrk gS 
 (C) dHkh Hkh 'kwU; ugha               

 (D) ;g rkieku ij fuHkZj djrk gSA  
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46. Which one of the following has 

maximum inertia ? 

(A) An atom  (B) A molecule 

(C) A one-rupee coin(D) A cricket ball 

47. Which one of the following is the 

value of 1 kWh of energy converted 

into joules ? 

(A) 1.8 x    J (B) 3.6 x    J 

(C) 6.0 x    J (D) 7.2 x    J 

48. Which one of the following statements 

about gravitational force is NOT 

correct ? 

(A) It is experienced by all bodies in 

the universe    

(B) It is a dominant force between 

celestial bodues 

(C) It is a negligible force for atoms 

(D) It is same for all pairs of bodies in 

our universe 

49. Whether an object will float  or sink in 

a liguid, depends on 

(A) mass of the object only   

(B) mass of the object and density of 

liguid only 

(C) difference in the densities of the 

object and liquid    

(D) mass and shape of the object only 

50. Which one of the following devices is 

non-ohmic ? 

(A) Conducting copper coil   

(B) Electric heating coil 

(C) Semi conductor diode 

(D) Rheostat 

51. Which one of the following is the 

natural phenomenon based on which a 

simple periscope works ? 

(A) Reflection of light    

(B) Refraction of light 

(C) Dispersion of light    

(D) Total internal reflection of light 

52. Which one of the following frequency 

ranges is sensitive to human ears ? 

(A) 0 - 200 Hz   (B) 20-20000 Hz only 

(C) 200-2000 Hz only    

(D) 2,000-20,000 Hz only 

46- fuEufyf[kr esa ls fdl ,d dk tM+Ro vf/kdre 

gS\ 

 (A) ,d ijek.kq dk  

 (B) ,d v.kq dk 

 (C) ,d&#i;s ds ,d flDds dk              

 (D) fØdsV dh ,d xsan dk 
47- 1kWh ÅtkZ dk twy esa :ikUrfjr eku] 

fuEufyf[kr esa ls dkSu lk gS\ 

(A) 1.8 x    J (B) 3.6 x    J 

(C) 6.0 x    J (D) 7.2 x    J 

48- xq#Roh; cy ds ckjs esa] fuEufyf[kr esa ls dkSu lk 

dFku lgh ugha gS\ 

 (A) ;g fo'o ds lHkh fiaMksa ij yxrk gS  

 (B) ;g [kxksyh; fiaMksa ds chp izHkkoh cy gS 
 (C) ijek.kqvksa ds fy, ;g cy ux.; gS              

 (D) ;g gekjs fo'o esa fiaMksa ds lHkh ;qXeksa ds fy, 
,dleku gksrk gS 

49- fdlh nzo esa] fdlh fi.M dk rSjuk ;k Mwcuk] 

fuHkZj djrk gSA 

 (A) dsoy fi.M ds nzO;eku ij    

 (B) dsoy fi.M ds nzO;eku vkSj nzo ds ?kuRo ij 

 (C) fi.M vkSj nzo ds ?kuRoksa ds varj ij        

 (D) dsoy fi.M ds nzO;eku vkSj vkdkj ij 

50- fuEufyf[kr esa ls dkSu lk ;a= vu~&vkseh gS\ 

 (A) pkyu rkez daqMyh  

 (B) fo|qr~&rkiu dqaMyh 
 (C) v/kZ pkyd Mk;ksM      

 (D) /kkjk &fu;a=d 

51- fuEufyf[kr esa ls dkSu lh og HkkSfrd ?kVuk gS 

ftlds vk/kkj ij ,d ljy ifjn'khZ ¼isfjLdksi½ 

dk;Z djrk gS\ 

 (A) izdk'k dk ijkorZu (B) izdk'k dk viorZu 

 (C) izdk'k dk izdh.kZu               

 (D) izdk'k dk iw.kZ vkarfjd ijkorZu 

52- fuEufyf[kr vko`fÙk ifjljksa esa ls dkSu lh] ekuo& 

d.kZ ds fy, laosnh gS\ 

(A) 0 - 200 Hz   (B) 20-20000 Hz only 

(C) 200-2000 Hz only    

(D) 2000-20000 Hz only 
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53. Which of the following statements 

about latent heat for a given substance 

is/are correct ? 

1. It is fixed at a given temperature. 

2. It depends upon the temperature and 

volume. 

3. It is independent of temperature and 

volume. 

4. It depends on the temperature but 

independent of volume. 

Select the correct anser using the code 

given below: 

(A) 2   (B) 1 and 3 

(C) 4 onty  (D) 1 and 4 

54. Which one of the following statements 

about the mass of a body is correct ? 

(A) It changes from one place to 

another    

(B) It is same everywhere 

(C) It depends on its shape   

(D) It does not depend on its tempera-

ture 

55. A ball balanced on a vertical rod is an 

example of 

(A) stable equilibrium    

(B) unstable equilibrium 

(C) neutral equilibrium 

(D) perfect equilibrium 

56. Which of following statements about a 

fluid at rest in cup is/are correct ? 

1. Pressure is same at all the points in 

the fluid. 

2. Pressure is exerted on the walls. 

3. Pressure exists everywhere in the 

fluid. 

Select the correct answer using the 

code given below: 

(A) 1 and 2 only (B) 2 and 3 only 

(C) 1only  (D) 1,2 and 3 

57. Which one of the following devices is 

used to measure atmospheric pressure 

? 

(A) Ammeter (B) Barometer 

(C) Potentiometer (D) Lactometer 

53- fdlh fn;s x;s inkFkZ dh xqIr Å"ek ds ckjs esa] 

fuEufyf[kr dFkuksa esa ls dkSu lk@ ls lgh gS@gSa\ 

1- ;g ,d fn;s x;s rkieku ij fLFkj ¼fu/kkZfjr½ 

jgrh gSA 

2- ;g rkieku vkSj vk;ru ij fuHkZj jgrh gSA 

3- ;g rkieku vkSj vk;ru ls Lora= gksrh gS 

¼ij fuHkZj ugha djrh½A 

4- ;g rkieku ij rks fuHkZj jgrh gS ysfdu 

vk;ru ij ughaA 

uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s%  

 (A) 2   (B) 1 vkSj 3 

 (C) dsoy 4             (D) 1 vkSj 4 

54- fdlh fi.M ds nzO;eku ds ckjs esa] fuEufyf[kr esa 

ls dkSu lk dFku lgh gS\ 

 (A) ;g ,d txg ls nwljh txg ij] cny tkrk 

gS    

 (B) ;g gj txg ,d leku gksrk gS 
 (C) ;g fi.M ds vkdkj ij fuHkZj djrk gS 

  (D) ;g fi.M ds rkieku ij fuHkZj ugha djrk gS 
55- ,d Å/oZ n.M ij larqfyr ,d xasn] fdldk 

mnkgj.k gS\ 

 (A) LFkk;h lkE; dk  

 (B) vLFkk;h lkE; dk 

 (C) mnklhu lkE; dk      
  (D) iw.kZ lkE; dk 
56- ,d I;kys esa fLFkj voLFkk esa fLFkr rjy ds ckjs esa 

fuEufyf[kr esa ls dkSu lk@ls dFku lgh gS@gSa\ 

1- rjy esa lHkh fcUnqvksa ij] nkc ,d leku gksrk 

gSA 

2- nkc fHkfÙk;ksa ij iM+rk gSA 

3- nkc rjy esa gj txg jgrk gSA 

uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s% 

 (A) dsoy 1 vkSj 2  

 (B) dsoy 2 vkSj 3 

 (C) dsoy 1              

 (D) 1] 2 vkSj 3 

57- ok;qeaMyh; nkc dks ekius ds fy,] fuEufyf[kr 

;a=ksa esa ls fdl ,d dk iz;ksx fd;k tkrk gS\ 

 (A) ,sehVj  (B) cSjksehVj 

 (C) iksVsfU'k;ks ehVj         

  (D) ySDVksehVj 
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58. Which of the following statements 

about specific heat of a body is/are 

correct ? 

1. It depends upon mass and shape of 

the body 

2. It is independent of mass and shape 

of the body 

3. It depends only upon the temperat-

ure of the body 

Select the correct answer using the 

code given below : 

(A) 1 only  (B) 2 and 3 

(C) 1 and 3  (D) 2 only 

59. Which one of the following is an 

example of the force of gravity of the 

earth acting on a vibrating pendulum 

bob ? 

(A) Applied force (B) Frictional force 

(C) Restoring force(D) Virtual force  

60. Which one of the following statements 

about the refractive index of a material 

medium with respect to air is correct ? 

(A) It can be either positive or negative 

(B) It can have zero value 

(C) It is unity for all materials   

(D) It is always greater than one 

61. From which state of India, Raja Chilli 

has been exported to London for the 

first time? 

(A) Nagaland (B) U.P. 

(C) M.P.  (D) Rajasthan 

62. The 12
th

 edition of the India Naval 

exercise has been conducted between 

the  Indian Navy and which Navy? 

(A) Britain  (B) France 

(C) America  (D) Russian 

63. How many new air transport routes 

have been approved by the Governm-

ent of India under the UDAN scheme ? 

(A) 680  (B) 780    (C) 785    (D) 685 

64. ISRO-NASA joint mission Nisar 

satellite will be launched in which 

year? 

(A) 2023 (B) 2024 (C) 2025   (D) 2026 

58- fdlh fi.M dh fof'k"V Å"ek ds ckjs esa 

fuEufyf[kr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\ 

1- ;g fi.M ds nzO;eku vkSj vkdkj ij fuHkZj 

gksrh gS 

2- ;g fi.M ds nzO;eku vkSj vkdkj ij fuHkZj 

ugha djrh 

3- ;g dsoy fi.M ds rkieku ij fuHkZj djrh gS 

uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj pqfu;s% 

 (A) dsoy 1  (B) 2 vkSj 3 

 (C) 1 vkSj 3             (D) dsoy 2 

59- ,d daieku yksyd xksys ij dk;Zjr] i`Foh ds 

xq#Ro&cy dk mnkgj.k] fuEufyf[kr esa ls dkSu lk 

gS\ 

 (A) vuqiz;qä cy   

 (B) ?k"kZ.k cy 

 (C) izR;ku;u cy             

 (D) vkHkklh cy 

60- ok;q ds lkis{k fdlh nzO;kRed ek/;e ds viorZukad 

ds laca/k esa] fuEufyf[kr esa ls dkSu lk dFku lgh 

gS\ 

 (A) ;g ;k rks /kukRed ;k _.kkRed gks ldrk gS  

 (B) bldk eku 'kwU; gks ldrk gS 
 (C) ;g lHkh nzO;ksa ds fy, ,d ¼;wfuVh½ gS 
 (D) ;g ges'kk ,d ls vf/kd gS 

61- Hkkjr ds fdl jkT; ls igyh ckj jktk fepZ dks 

yanu esa fu;kZr fd;k x;k gS \ 

 (A) ukxkySaM  (B) ;w-ih- 
 (C) ,e-ih-              (D) jktLFkku 

62- Hkkjrh; ukSlsuk vkSj fdl ukSlsuk ds chp banz 

ukSlsuk vH;kl dk 12oka laLdj.k vk;ksftr fd;k 

x;k gS\ 

 (A) fczVsu   (B) Ýkal 

 (C) vesfjdk             (D) #lh  

63- Hkkjr ljdkj us mM+ku ;kstuk ds rgr fdrus u, 

gokbZ ;krk;kr ekxksZa dks eatwjh nh gS\ 

 (A) 680   (B) 780 

 (C) 785              (D) 685 
64- bljks & uklk dk la;qä fe'ku fulkj mixzg fdl 

o"kZ ykap fd;k tk;sxk \ 

 (A) 2023  (B) 2024 

 (C) 2025             (D) 2026 
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65. Which country has won the most 

medals in Tokyo Olympics 2020? 

(A) Australia (B) China 

(C) America  (D) South korea 

66. Which state of India has become the 

first state in the country to get 100% 

Kovid-19 vaccination? 

(A) Himachal Pradesh(B) Hariyana 

(C) Nagaland (D) Delhi 

67. Who has been appointed as the new 

Director General of Border Security 

Force ? 
(A) Anil Kumar  (B) Pankaj Kumar Singh 

(C) Pushpendra Singh  (D) Bhvuesh singh 

68. Who became the second batsman after 

Kapil Dev (30 balls) to score a 31-ball 

fifty in a Test match for India ? 
(A) Virat Kohli (B) Rohit Sharma 

(C) Sachin Tendulker(D) Shardul Thakur 

69. Which country will host the G20 

summit in the year 2023? 

(A) Brazil  (B) Pakistan 

(C) India  (D) Bangladesh 

70. In which country has the Taliban 

announced a caretaker government ? 

(A) Pakistan  (B) Bangladesh 

(C) Afghanistan (D) Nepal 

71. On which day is World Population 

Day celebrated ? 

(A) March 21 (B) March 8 

(C) July 1  (D) July 11 

72. Who discovered the polio Vaccine ? 

(A) Louis Pasteur (B) Jonas Salk 

(C)Benting     (D) Alexander Fleming 

73. Where will the 2026 FIFA World Cup 

be held ? 

(A) Canada  (B) Mexico 

(C) America          (D) All of the above 

74. Sahity Academy award gives in how 

many languages ?  

(A) 20  (B) 22 

(C) 24  (D) 26 

 
 

65- fdl ns'k us VksD;ks vksyafid 2020 esa lcls vf/kd 

ind thrs gS\ 

 (A) vkLVsªfy;k  (B) phu 

 (C) vesfjdk  (D) nf{k.k dksfj;k 
66- Hkkjr dk dkSulk jkT; 100% dksfoM&19 Vhdkj.k 

djokus okyk ns'k dk igyk jkT; cu x;k gS\ 

 (A) fgekpy izns'k  (B) gfj;k.kk 
 (C) ukxkyS.M             (D) fnYyh 
67- fdldks lhek lqj{kk cy dk u;k egkfuns'kd 

fu;qDr fd;k x;k gS\ 

 (A) vfuydqekj  (B) iadt dqekj flag 

 (C) iq"isUnz flag             (D) Hkqou flag 

68- Hkkjr ds fy, VsLV eSp esa 31 xsan ij v/kZ'krd 

yxkus okys dfiy nso ¼30 xsan½ ds ckn nwljs 

cYysckt dkSu cus \ 

 (A) fojkV dksgyh  (B) jksfgr 'kekZ 
 (C) lfpu rsanqydj          (D) 'kknqZy Bkdqj 
69- o"kZ 2023 esa th 20 lEesyu dh estckuh dkSu lk 

ns'k djsxk \ 

 (A) czkthy  (B) ikfdLrku 

 (C) Hkkjr             (D) ckaXykns'k 
70- rkfycku us fdl ns'k esa dk;Zokgd ljdkj dk 

,syku fd;k gS\ 

 (A) ikfdLrku  (B) ckaXykns'k 
 (C) vQxkfuLrku             (D) usiky 
71- fo'o tula[;k fnol fdl fnu euk;k tkrk gS\ 

 (A) 21 ekpZ  (B) 8 ekpZ 
 (C) 1 tqykbZ             (D) 11 tqykbZ 
72- iksfy;ks ds Vhds dh [kkst fdlus dh \ 

 (A) yqbZ ik'pj   

 (B) tkWukl lkYd 

 (C) cSsfVax              

 (D) vysDtsaMj ¶ysfeax 

73- 2026 dk Qhdk fo'o di dgk¡ vk;ksftr gksxk \ 

 (A) dukMk  (B) esfDldks 
 (C) vesfjdk             (D) mijksä lHkh 

74- lkfgR; vdkneh iqjLdkj fdruh Hkk"kkvksa esa fn;k 

tkrk gS\ 

 (A) 20   (B) 22 

 (C) 24              (D) 26 
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75. Who created the judging formula ? 

(A) Vyasa  (B) Kapil 

(C) Gautam  (D) Charak 

76. Ashoka took the initiation of Buddh-ism 

by whom ? 

(A) Brahma Gupat (B) Up gupta 

(C) Dev Gupta (D) Chandra Gupta 

77. Which movement was not led by 

Mahatma Gandhi ? 

(A) Quit india Movement    

(B) Non cooperation movement 

(C) Indigenous movement  

(D) Civil disobedience movement 

78. When was the first Central Legislative 

Assembly established ? 

(A) 1920 (B) 1921  (C) 1922 (D) 1923 

79. Which year did the Indian Communist 

Party established ? 

(A) 1925 (B) 1924 (C) 1926 (D) 1928 

80. Alamatti Dam is situated at which river? 

(A) Kaveri  (B) Krishna 

(C) Mahanadi (D) Shravati 

81. In which state is the Lahaul Valley 

located ? 

(A) Jammu Kashmir   (B) Sikkim 

(C) Himachal Pradesh(D) Uttarakhand 

82. Who is the country of white elephants? 

(A) Cuba  (B) Africa 

(C) Thailand  (D) Turkey 

83. In which province, Muslim League 

formed their first government after 1946 

elections ? 

(A) Bengal  (B) Madras 

(C) Bombay          (D) United province 

84. First Round Table Conference was held 

during November 1930 January 1931. 

Who was the Viceroy of India at that 

time ? 

(A) Lord Reading (B) Lord lrwin 

(C) Lord Linlithgow(D) Lord wavel 

85. After failure of which among the 

following movements, the swaraj Party 

was formed ? 

(A) Quit India Movement   

(B) Non-cooperation Movement 

(C) Civil disobedience Movement  

(D) Swadeshi Movement 

75- U;k; lw= dh jpuk fdlus dh \ 

 (A) O;kl   (B) dfiy 

 (C) xkSre             (D) pjd 

76- v'kksd us ckS) /keZ dh nh{kk fdlls yh \ 

 (A) czEgxqIr  (B) mixqIr 

 (C) nsoxqIr             (D) pUnzxqIr 

77- fdl ,d vkUnksyu dk usr`Ro egkRek xk¡/kh us ugh 

fd;k \ 

 (A) Hkkjr NksMks vkUnksyu   (B) vlg;ksx vkUnksyu 

 (C) Lons'kh vkUnksyu            (D) lfou; voKk 

78- izFke dsanzh; fo/kku lHkk dh LFkkiuk dc dh x;h \ 

 (A) 1920  (B) 1921 

 (C) 1922            (D) 1923 

79- Hkkjrh; dE;qfu"V ikVhZ dh LFkkiuk fdl o"kZ gqbZ \ 

 (A) 1925  (B) 1924 

 (C) 1926            (D) 1928 

80- vyeêh cka/k fdl unh ij fLFkr gS\ 

 (A) dkosjh  (B) d`".kk 
 (C) egkunh             (D) 'kjkorh 
81- ykgksy ?kkVh fdl jkT; esa fLFkr gS\ 

 (A) tEew dk'ehj  (B) flfDde 

 (C) fgekpy izns'k           (D) mÙkjk[kaM 

82- lQsn gkfFk;ksa dk ns'k fdls dgk tkrk gS\ 

 (A) D;wck   (B) vÝhdk 

 (C) FkkbZySaM           (D) VdhZ 
83- 1946 ds pqukoksa ds ckn eqfLye yhx us fdl izkar 

esa viuh igyh ljdkj cukbZ \ 

 (A) caxky   (B) enzkl 

 (C) ckWEcs             (D) ;wukbVsM izksfoUl 
84- igyk xksyest lEesyu uoacj 1930 tuojh 1931 

ds nkSjku vk;ksftr fd;k x;k FkkA ml le; Hkkjr 

dk ok;ljk; dkSu Fkk\ 

 (A) ykMZ jhfMax  (B) ykWMZ bjfou 

 (C) ykMZ fyufyFkxks         (D) ykMZ okcsy 

85- fuEufyf[kr esa ls fdl vkanksyu dh foQyrk ds 

ckn Lojkt ikVhZ dk xBu fd;k x;k Fkk\ 

 (A) Hkkjr NksM+ks vkanksyu    

 (B) vlg;ksx vkanksyu 

 (C) lfou; voKk vkanksyu               

 (D) Lons'kh vkanksyu 
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86. Which British officer suppressed the 

Revolt of 1857 in Kanpur ? 

(A) Colin Champbell   

(B) Nicholson and Hudson 

(C) Major William Taylor 

(D) Col. Neill 

87. Which among the following spreads 

from Sasaram and Rohtas in Western 

Bihar to Chittaurgarh in Rajasthan ? 

(A) Aravali   (B) Vindhyan  

(C) Dharwar (D) Cudappah  

88. At which among the following places, 

Brahamputra takes a U-turn at the time 

of entering into india ? 

(A) Kula Kangri (B) Lunpo Gangri 

(C) Namcha Barwa(D) Noijin Kangsang 

89. Which state is known as  Indai's Spice 

Garden ? 

(A) Karnataka (B) Bihar 

(C) Kerala  (D) Uttarakhand 

90. Which tribal group is dominant in the 

'Blue Mountains' of South India ? 

(A) Todas  (B) Lepchas 

(C) Lambadas (D) Chenchus 

91. The chairman of the committee on 

Public Accounts is nominated by which 

among the following? 

(A) President  

(B) Lok Sabha Speaker  

(C) Lok Sabha Secretary    

(D) Cabinet Committee on Parliament-

ary Affairs 

92. Which of the following committee made 

a recommendation that election 

commission should be a three member 

body ? 

(A) Tarkunde Committee    

(B) Ashok Mehta Committee 

(C) Jeevan Reddy Committee   

(D) JP Committee 

93. Constitution (103rd) Act, 2019 has 

made amendments to which of the follo-

wing parts of the Constitution of India? 

(A) Fundamental Rights    

(B) Fundamental Duties 

(C) Directive Principles of State Policy  

(D) Temporary Provisions 

86- dkuiqj esa 1857 ds fonzksg dks fdl fczfV'k 

vf/kdkjh us nck fn;k Fkk \ 

 (A) dkWfyu pSaicsy  

 (B) fudksylu vkSj gMlu 

 (C) estj fofy;e Vsyj               

 (D) duZy uhy 

87- fuEufyf[kr esa ls dkSu if'peh fcgkj ds lklkjke 

vkSj jksgrkl ls jktLFkku ds fpÙkkSM+x<+ rd QSsyk 

gS\ 

 (A) vjkoyh   (B) foa/;u  

 (C) /kkjokM+             (D) dMIik 
88- fuEufyf[kr esa ls fdl LFkku ij] czãiq= Hkkjr esa 

izos'k djrs le; ;w&VuZ ysrk gS\ 

 (A) dqy dkaxjh  (B) yquiks xkaxjh 
 (C) ukepk cjok  (D) uksbftu daxlkax 
89- fdl jkT; dks Hkkjr ds Likbl xkMZu ds :i esa 

tkuk tkrk gS\ 

 (A) dukZVd  (B) fcgkj 

 (C) dsjy             (D) mRrjk[k.M 

90- nf{k.k Hkkjr ds ^Cyw ekmaVsal* esa dkSu lk vkfnoklh 

lewg izeq[k gS\ 

 (A) VksMkl  (B) ysIpkl 

 (C) yacnkl             (D) psapwl 

91- yksd ys[kk lfefr ds v/;{k dks fuEufyf[kr esa ls 

fdlds }kjk ukfer fd;k tkrk gS\ 

 (A) jk"Vªifr    

 (B) yksdlHkk v/;{k 

 (C) yksdlHkk lfpo               

 (D) lalnh; ekeyksa ls lacaf/kr dSfcusV desBhA 
92- fuEufyf[kr esa ls fdl lfefr us flQkfj'k dh fd 

pquko vk;ksx dks rhu lnL;h; fudk; gksuk pkfg, 

\ 

 (A) rkjdq.Ms lfefr (B) v'kksd esgrk lfefr 

 (C) thou jsM~Mh lfefr (D) ts-ih- lfefr 

93- lafo/kku ¼103oka½ vf/kfu;e] 2019 us Hkkjr ds 

lafo/kku ds fuEufyf[kr esa ls fdl Hkkx esa la'kks/ku 

fd;k gS\ 

 (A) ekSfyd vf/kdkj (B) ekSfyd drZO; 

 (C) uhfr funsZf'kd rRo (D) vLFkk;h izksfctu 
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94. Who was the first person to discuss the 

concept of the 'Poverty Line' in India ? 

(A) Dadabhai Naoroji(B) R.C. Dutt 

(C) D.R. Gadgil   (D) Motilal Nehru 

95. The Central Vigilance Commission 

was set up by the Government on the 

recommendations of the Committee on 

Prevention of Corruption, headed by. 
(A)GV Ramakrishna(B) M. Chakravarthy 

(C) HS Ahluwalia (D) K Santhanam 

96. Who was the Viceroy of British india 

during the first session of the Congress 

? 

(A) Lord Curzon (B) Lord Dufferin 

(C) Lord Mayo (D) Lord Minto 

97. What was the Rigvedic name of river 

Ravi? 

(A) Parushi  (B) Vipas 

(C) Askini  (D) None of these 

98. Petrology is the study of  

(A) Land  (B) Minerals 

(C) Rock  (D) Soil 

99. Which is the highest peak in the 

Aravalli ranges ? 

(A) Mahendra Giri (B) Kanchenjunga 

(C) Guru Shikhar (D) Parasnath 

100. Where is the oldest oil refinery in india 

? 

(A) Koyali near Baroda    

(B) Noonmati, Assam 

(C) Digboi, Assam    

(D) Barauni, Bihar 

 

 

 

 

 

 

 

 

 

 

 

94- Hkkjr esa ^xjhch js[kk* dh vo/kkj.kk ij ppkZ djus 

okys igys O;fDr dkSu Fks\ 

 (A) nknkHkkbZ ukSjksth (B) R.C. nÙk 

 (C) Mh-vkj- xkMfxy (D) eksrhyky usg: 

95- dsanzh; lrdZrk vk;ksx dh LFkkiuk ljdkj u 

Hkz"Vkpkj fujks/kd lfefr dh flQkfj'kksa ij dh Fkh] 

ftlds izeq[k FksA 

 (A) th-oh- jked`".kk (B) ,e- pØorhZ 
 (C) H.S. vkgywokfy;k     (D) K. laFkkue 

96- dkaxzsl ds igys l= ds le; fczfV'k Hkkjr dk 

ok;ljk; dkSu Fkk\ 

 (A) ykWMZ dtZu  (B) ykWMZ MQfju 

 (C) ykWMZ es;ks             (D) ykWMZ feaVks 
97- jkoh unh dk _XoSfnd uke D;k Fkk \ 

 (A) ik:"kh  (B) foikl 

 (C) vfLduh         (D) buesa ls dksbZ ugha 
98- isVªksykWth fdldk v/;;u gS\ 

 (A) Hkwfe   (B) [kfut 

 (C) pêku             (D) feêh 
99- vjkoyh ioZrekyk esa lcls Åaph pksVh dkSu lh gS\ 

 (A) egsanz fxjh  (B) daputaxk 
 (C) xq# f'k[kj             (D) ikjlukFk 
100- Hkkjr esa lcls iqjkuh rsy fjQkbujh dgka gS\ 
 (A) cM+kSnk ds ikl dks;kyh    

 (B) uwuerh] vle 

 (C) fMxcksbZ] vle (D) cjkSuh] fcgkj 
 

ENGLISH 
 

Directions : In this section, each of the 

following sentences has a blank space and 

four words given ofter the senterce. Select 

whichever word you consider most 

appropriate for the blank space and indiacate 

your respones in the Answer Sheet 

accordingly. 

101. When the bus was at full speed, its 

brackes failed and an accident wa......... 

(A) inevitable (B) undeniable  

(C) fatal  (D) miserable 
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102. To explain his design to his visitors, 

the arechitect................... a simple plan 

on the blackboard. 

(A) Built  (B) Finalised 

(C) Sketched (D) arranged 

103. Though Bonsai, a well- known art 

form, originated in China, it was 

............. by the Japanese. 

(A) Cultivated (B) Finished 

(C) Perfected (D) Enlarged 

104. He is greatly admired for his ................ 

behaviour. 

(A) decrepit  (B) decadent 

(C) decorative (D) decorous 

105. Would you mind....................to the 

Principal how the trouble started ? 

(A) Remarking (B) Saying 

(C) Explaining (D) Talking 

106. Vaccination will make people immune 

................certain diseases for a given 

period. 

(A) Against  (B) to 

(C) With  (D) for 

107. The two boys looked so aliske that it 

was impossible to.....................between 

them.  

(A) discriminate (B) discern 

(C) distinguish (D) identify 

108. The campers..................... their tants at 

the base of the mountain. 

(A) installed  (B) dug 

(C) pitched  (D) established 

109. The enemy had captured him and his 

life was at stake, still he refused 

to...................the state secrets. 

(A) divulge  (B) divert 

(C) indulge  (D) invert 

110. He handled the machine with deft 

fingers. 

(A) Delicate  (B) Sturdy 

(C) Quick  (D) Clumsy 

Directions: In this section, look at the 

underlined part of each sentence. Below each 

sentence are given three possible substituions 

for the underlined part. If one of them (a), (b) 

or (c) is better than the underlined part, 

indicate your response on the Answer Sheet 

against the corresponding letter (a), (b) or (c). 

If none of the substitutions improves the 

sentence, indicate (d) as your response on the 

Answer Sheet, Thus a "No improvement" 

reponse will be signified by the letter (d). 

111. When he heard the rhetorical speech of 

the leader, he was carried along by 

his enthusiasm.  

(A) Carried aloft (B) Carried down 

(C) Carried away  

(D) No improvement 

112. After the heavy rains last week, the 

water in the lako raised another tow 

feet. 

(A) Rose another two feet   

(B) Arisen another two feet 

(C) Would raise another two feet  

(D) No improvement 

113. One can live and work in a town 

without being aware of the daily march 

of the sun across the sky without never 

seeing the moon and stars. 

(A) Seldom  (B) Hardly 

(C) Ever         (D) No improvement 

114. Applications of those who are 

graduates  will be considered.  

(A) Whom are graduates    

(B) Whose are graduates 

(C) Whom are only graduates   

(D) No improvement 

115. It is raining heavily all through this 

week. 

(A) Has rained (B) Rains 

(C) Rained         (D) No improvemen t  

116. The sparrow took  no notice about  

the bread. 

(A) Notice of (B) Notice from 

(C) Notice to        (D) No improvement 

117. We ought to stand for what is right. 

(A) Stand at  (B) Stand on 

(C) Stand up         (D) No improvement 
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118. He enjoys to to tell stories to children. 

(A) how to tell stories    

(B) telling stories 

(C) to narrate stories    

(D) No improvement 

119. Suddenly there was a bright flash, 

Followed by a  deafening explosion. 

(A) Dangerous (B) Terrifying 

(C) Mild  (D) Very loud 

120. He showed exemplary courage duri-

ng the crisis.  

(A) Usual  (B) Durable 

(C) Commendable (D) Some 

PASSAGE 
 

If a country should have a message for its 

people, it should be a inessage of human 

dignity. The ideals of a  nation should be of 

the freedom of ideas, speech, press the right 

to assemble and the right to worship. A 

country should boldly proclaim to world 

dominated by tyrants that "all men are 

created equal and they are endowed by their 

Creator with certain unalienable rights" and  

"among these are life,liberty, and the pursuit 

of happiness". This should be the source of 

the strength and power of a nation. If people 

have the freedom to live their lives in dignity, 

they can work with a sound mind and 

physical health. The moral, political and 

economic stature of a country lies in the 

strength of its people. A nation should strive 

to be a more perfect, not the perfect country 

where the people is given a promise and a 

hope in their minds to work and cherish 

liberty, justice, and opportunity. We do not 

always get what we want when we want it 

but is always better to believe that someday, 

somehow we will 
 

121. Citizens of a country should work and 

cherish  

(A) liberty, justice and opportunity 

(B) liperty and happiness 

(C) opportunity and justice  

(D) love 

122. The source of the strength and power 

of a nation depends on  

(A) the physical health of the people  

(B) its people 

(C) rights of the people    

(D) freedom of the people 

123. The passage leads the reader to think 

about  

(A) the morals of a nation   

(B) what a country needs 

(C) ruling nation    

(D) the Rights of the people 

124. Life, liberty, and the pursuit of happin-

ess are.  

(A) Pillars of equality    

(B) Gifts of our creator 

(C) Rights of all men 

(D) ldeals of a nation 

125. The ending part of the passage is about 

(A) Hope  (B) Perfection 

(C) A promise (D) Want 

IDIOM AND PHRASE 
126. The leader must have the lion's share 

of the booty. 

(A) the worthy part(B) the smaller part 

(C) the larger part(D) the stronger part 

127. The prices are going up by leaps and 

bounds. 
(A) gradually (B) rapidly 

(C) irregularly (D) systematically 

128. His dealings are all above board. 

(A) simple  (B) friendly 

(C) decent  (D) open 

129. To play foul 
(A) to oppose others   

(B) to do something wrong 

(C) to tackle carelessly    

(D) to play rough football 

130. In deep water 

(A) to feel lonely  

(B) to swim in a river 

(C) to act like a coward    
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(D) in real trouble 

131. To be fair and square pays in the 

long run. 
(A) worthy  (B) successful 

(C) honest  (D) honest means 

132. Flesh and blood can bear it no longer. 

(A) in life  (B) at the top speed 

(C) warning  (D) human nature 

133. To chew the end. 

(A) to be annoyed (B) to cut the end 

(C) start something new    

(D) to think deeply 

134. Mrs Rashmi has been in the blues  for 

the last several weeks. 

(A) unwell  (B) abroad 

(C) lonely  (D) depressed 

135. To see red 

(A) to find fault with    

(B) to criticise others 

(C) to be very angry    

(D) to victimise simeone 

SYNONYM  
 

136. Vigilant 

(A) smart  (B) watchful 

(C) ambitious (D) intelligent 

137. Yield 

(A) surrender (B) prohibit 

(C) muffle  (D) disconnect 

138. Abrupt 

(A) curt  (B) smooth 

(C) courteous (D) continue 

139. Pensive 

(A) sad  (B) thoughtful 

(C) gloomy  (D) black 

140. Alacrity 

(A) promptness (B) lethargy 

(C) deter  (D) exalted 

141. Bleak 

(A) gloomy  (B) cheerful 

(C) bright  (D) scatter 

142. Chastise 

(A) Stimulate (B) Exclude 

(C) Approve  (D) Admonish 

143. Inscription 

(A) scrubbed (B) rivet 

(C) jaded  (D) Engrave 

144. Incensed 

(A) enthused (B) enraged 

(C) inflamed  (D) excited 

145. Abash 

(A) encourage (B) forsake 

(C) confound (D) pursue 

ANTONYMS 
 

146. Frugality 

(A) economy (B) extravagance 

(C) miserliness (D) niggardliness 

147. Deface 

(A) stigma  (B) adornment 

(C) strength  (D) Blemish 

148. Fortuitous 

(A) unlucky  (B) bad 

(C) distressing (D) abominable 

149. Profligate 

(A) Proper  (B) extravagant 

(C) effective  (D) thrifty 

150. Slovenly 

(A) gaudy  (B) tidy 

(C) formal  (D) old fashioned 
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ANSWERS 

1 D 21 D 41 A 61 A 81 C 101 A 121 A 141 A 

2 D 22 C 42 A 62 D 82 C 102 C 122 C 142 D 

3 C 23 A 43 B 63 B 83 A 103 C 123 B 143 A 

4 D 24 D 44 C 64 A 84 B 104 D 124 C 144 B 

5 C 25 C 45 A 65 C 85 B 105 C 125 A 145 C 

6 C 26 B 46 D 66 A 86 A 106 B 126 C 146 B 

7 A 27 C 47 B 67 B 87 B 107 C 127 B 147 B 

8 B 28 A 48 D 68 D 88 C 108 C 128 D 148 A 

9 D 29 A 49 C 69 C 89 C 109 A 129 B 149 D 

10 A 30 B 50 C 70 C 90 A 110 D 130 D 150 B 

11 B 31 B 51 A 71 D 91 B 111 C 131 C   

12 C 32 A 52 B 72 B 92 A 112 A 132 D   

13 D 33 A 53 D 73 D 93 A 113 C 133 D   

14 B 34 B 54 B 74 C 94 A 114 D 134 D   

15 A 35 A 55 A 75 C 95 D 115 C 135 C   

16 C 36 C 56 B 76 B 96 B 116 A 136 B   

17 B 37 A 57 B 77 C 97 A 117 C 137 A   

18 A 38 D 58 D 78 B 98 C 118 B 138 A   

19 A 39 B 59 C 79 A 99 C 119 D 139 B   

20 C 40 A 60 D 80 B 100 C 120 C 140 A   
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